

Identities for Bernoulli and Stirling Numbers from the Roman's Formula

J. López-Bonilla, R. López-Vázquez and O. Puente-Navarrete

ESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 4, 1er. Piso,
 Col. Lindavista CP 07738, CDMX, México

Abstract: We use the Roman's combinatorial relation to obtain identities for the Bernoulli and Stirling numbers.

Key words: Stirling numbers • Roman's formula • Polynomials and numbers of Bernoulli

INTRODUCTION

Roman [1, 2] obtained the identity:

$$S_{n-1}^{[k-1]} = \frac{1}{n(k-1)} \sum_{j=0}^k \binom{k}{j} (-1)^{k+j} B_n(j), \quad 1 \leq k \leq n, \quad (1)$$

where $B_n(x)$ and $S_r^{[m]}$ are the Bernoulli polynomials [3-5] and the Stirling numbers of the second kind [6-9], respectively:

$$B_n(j) = \sum_{r=0}^n \binom{n}{r} B_r j^{n-r}, \quad (2)$$

$$S_m^{[k]} = \frac{(-1)^k}{k!} \sum_{j=0}^k (-1)^j \binom{k}{j} j^m, \quad (3)$$

with $B_r \equiv B_r(0)$ the Bernoulli numbers [4-8] and is very known the relationship [10]:

The application of (4) into (6) gives:

$$S_{n-1}^{[k-1]} = \frac{k}{n} \sum_{q=0}^n \frac{(-1)^q q!}{q-1} \sum_{r=0}^n \binom{n}{r} S_r^{[q]} S_{n-r}^{[k]} \stackrel{(5)}{=} \frac{1}{n(k-1)!} \sum_{q=0}^{n-k} \frac{(-1)^q (q+k)}{q+1} S_n^{[q+k]},$$

therefore:

$$S_{n-1}^{[k-1]} = \frac{(-1)^k}{n(k-1)!} \sum_{j=k}^n \frac{(-1)^j j!}{j-k+1} S_n^{[j]}, \quad 1 \leq k \leq n. \quad (7)$$

Let's remember the recurrence relation [6, 7]:

$$S_n^{[k]} = S_{n-1}^{[k-1]} + k S_{n-1}^{[k]}, \quad (8)$$

where we can employ (7) to deduce the interesting identity:

$$B_r = \sum_{k=0}^r \frac{(-1)^k k!}{k+1} S_r^{[k]}, \quad (4)$$

and the convolution form [7]:

$$\sum_{r=0}^n \binom{n}{r} S_r^{[q]} S_{n-r}^{[k]} = \binom{q+k}{q} S_n^{[q+k]}. \quad (5)$$

In Sec. 2 we employ (1), ... , (5) to deduce identities involving the Bernoulli and Stirling numbers.

Roman's Formula:

From (1) and (2):

$$S_{n-1}^{[k-1]} = \frac{(-1)^k}{n(k-1)} \sum_{r=0}^n \binom{n}{r} B_r \sum_{j=0}^k (-1)^j \binom{k}{j} j^{n-r},$$

where we can use (3) to obtain the expression:

$$S_{n-1}^{[k-1]} = \frac{k}{n} \sum_{r=0}^n \binom{n}{r} B_r S_{n-r}^{[k]}. \quad (6)$$

$$\sum_{r=0}^{n-k} \frac{(-1)^r (r+k)!(n-k+n-r)}{r+1} S_{n+1}^{[r+k+1]} = 0, \quad 1 \leq k \leq n. \quad (9)$$

We know values of the Stirling numbers, for example, $S_n^{[0]} = \delta_{n0}$, $S_n^{[n]} = 1$, $S_m^{[1]} = 1$, $m \geq 1$, etc., then (7) implies the properties:

$$\sum_{k=0}^n (-1)^k k! S_{n+1}^{[k+1]} = \delta_{n0}, \quad \sum_{k=1}^{n-1} (-1)^k (k-1)! S_n^{[k+1]} = 1-n, \quad (10)$$

$$\sum_{k=0}^{n-1} (-1)^k (k+2)k! S_{n+1}^{[k+2]} = 1+n.$$

REFERENCES

1. Roman, S., 2005. The umbral calculus, Dover, New York.
2. Komatsu, T. and Y. Simsek, 2017. Identities related to the Stirling numbers and modified Apostol-type numbers on umbral calculus, Palestine J. Maths., 6(Special Issue: I): 72-79.
3. Lanczos, C., 1966. Discourse on Fourier series, Hafner Pub., New York.
4. Temme, N.M., 1976. Special functions, John Wiley & Sons, New York
5. Arakawa, T., T. Ibukiyama and M. Kaneko, 2014. Bernoulli numbers and zeta functions, Springer, Japan.
6. Riordan, J., 1968., Combinatorial identities, John Wiley & Sons, New York.
7. J. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore.
8. Iturri-Hinojosa, A., J. López-Bonilla, R. López-Vázquez and O. Salas-Torres, 2017. Bernoulli and Stirling numbers, BAOJ Physics, 2(1): 3-5.
9. Barrera-Figueroa, V., J. López-Bonilla and R. López-Vázquez, 2017. On Stirling numbers of the second kind, Prespacetime Journal, 8(5): 3-5.
10. Comtet, L., 1974. Advanced combinatorics: The art of finite and infinite expansions, D. Reidel Pub., Holland.